
BRAUER SUPPLY COMPANY CLEARANCE SALE

(PRICES GOOD WHILE SUPPLIES LAST)

05/31/18

]

PART # FASTENER PRODUCT DESCRIPTION IN STOCK CLEARANCE PRICE PER EACH

10201110 PNT-110 PROFESSIONAL HAND PLIERS 2 $15.00

102041008 PRT5300-8 ROD SEAL POP 5 $10.25

102041018 PRT5300-18 SLEEVE "O" RING 3 $1.35

102041025 PRT5300-25 AIR VALVE PLUGGER 1 $6.52

102041026 PRT5400-26 GROMMET 4 $2.26

102041049 PRT5400-49 O RING 3 $0.82

102041059 PRT5400-59 O RING 3 $0.77

102041098 PRT5500-98 TRIGGER ROD SHOE 2 $14.04

102041112 PRT5500-112 CLAMP SCREW REAR 57 $2.19

102041326 PRT5300-26 GROMMETT 10 $4.70

102041559 PRT5500-59 AIR VALVE O RING 15 $0.93

102042191 AT203-191 POP ADAPTOR INSTALLATION WRENCH 1 $25.06

102044032 PRT5200-32 TRIGGER 2 $3.98

102044033 PRT5200-33 TRIGGER PIN 1 $0.50

102044036 PRT5200-36 HANDLE CAP 1 $19.44

1020450022 MCS500-22 VACUUM PUMP O RING 5 $0.78

102045415 PRT5400-15 PISTON SEAL 1 $13.05

102046092 FA203-092 NOSE HOUSING ASSY 1 $54.48

102046172 DP203-172 JAW GUIDE - RD 3 $21.74

102046250 DP203-250 MCS VLAVE STEM SEAL 1 $1.62

102046265 DP203-265 LEAK FILTER 1 $0.50

102046277 FA203-277 MIDDLE HOUSING ASSEMBLY 3 $91.29

102047021 DPN900-021 O RING 1 $0.50

102047805 DPN908-005 PENTA SEAL 2 $4.59

102049071 DPN277-071 FLATHEAD SCREW M3X8 87 $0.48

10801021 SSDSS-04-08 W/ PULL RINGS 7800 $0.04

113015050 DK2- REV 2 8-18 X 1/2 HWH ROHS SERR/ PROCORR 1796763 $0.02

117050046 ALS4-518-150 4000 $0.15

11705045 ALS4-420-165 20183 $0.10

11707916632 AAT916-632 6-32 EXPANDABLE TOOL 8 $5.66

1180160040 TU-SM6HUK030 2500 $0.19

1180161024 CFH2-1024-118 4940 $0.06

10101241 SD44BS POP RIVET 7467 $0.01

PAGE 1 OF 3



BRAUER SUPPLY COMPANY CLEARANCE SALE

(PRICES GOOD WHILE SUPPLIES LAST)

05/31/18

]

PART # FASTENER PRODUCT DESCRIPTION IN STOCK CLEARANCE PRICE PER EACH

10101319 SD812BS POP RIVET 4700 $0.09

10801955 AA44LF ALUM LRGE FLANGE EDSON RIVET BLK PNT GRIP .188 1475 $0.03

1130121016 10-16 X 1 TORX 4975 $0.03

113015055 DK2 410SS 8-18 X 3/4 FL PH BLK NANOMATE SCREW 236975 $0.03

114050002 TOOL EXPANDABLE 1/4-20 IT -2520 75 $4.71

114060001 31363 ROTOR BLADE FOR ARO TOOL 10 $1.13

1160931 #09600-03816 3/8-16 THREAD CONVERSION KIT 2 $6.71

1160932 8-32 9600-0832 THREAD COVERSION KIT 1 $6.71

1160933 10-24 9610-24LG THREAD CONVERSION KIT 7 $8.12

1170181315 #2612 1/2-13 TIN PLATED RIVENUT 301 $0.62

1170183275 RNA-0832-75 .222-.226 HOLE SIZE RIVENUT 8-32 .010-.075 AL 50000 $0.06

11701916616 AAT916-616 A-T SERIES EXPANDABLE TOOL 16 $6.71

117060832 TK-0832 EXPANDABLE TOOL 8-32 THREAD AAI81-832 76 $4.36

11706420 #AKPT420TAK THREAD ADAPTOR KIT 1/4-20 AVK TOOL 1 $132.49

117071500 #B3SH420-1500 1/4-20 X 1.500 SCREW MANDREL 10 $6.71

117086104 INS AHS4-610-4.2 AH 9702 $0.11

1180101024 CAL2-1024-130 10-24 SHEREX THIN SHEET INS. 4735 $0.05

1180111024 CAK2-1024-130 10-24 SHEREX KNURLED TSN INS 13795 $0.05

150016250 5/8 X 6 12' ALL THREAD 1 $8.82

150500957 #8190957 CWSD 15* 1/4 X 1-1/2 CEILING SW 75 $0.60

150504010 P4010 EG 1/2" SPRING NUT FOR P4100 1141 $0.51

150511064 K1064 EG 1/2" KWIK WASHER ZINC PLATED 399 $1.12

150501064 P1064 EG 1/2" SQUARE WASHER ZINC PLATED 979 $0.35

150506250 5/8" SPRING NUT FOR 1-5/8 CHANNEL 100 $0.85

150511625 5/8" HEXAGON NUT 100 $0.11

150512785 P 2785 EG BEAM CLAMP ZINC PLATED - FOR P1000 256 $1.76

10101089 AD612BS POP RIVET GRIP .626-.750 AL/ST 3000 $0.05

10402400 FBF86/STR 1/4" SS RIVET 7148 $0.33

10101317 SD810BS POP RIVET GRIP RANGE .501-.625 8000 $0.12

10101462 SSD43SSH POP RIVET GRIP RANGE .032-.187 36526 $0.15

102040801 PNT800L-PC PRESSURE CONTROL BAS MODEL TOOL 2 $1,488.89

10801181 ADA62 AL/AL 3/16" SUREBONDER RIVET 5000 $0.02

10801425 ADSH63 SUREBONDER RIVET 35588 $0.02

PAGE 2 OF 3



BRAUER SUPPLY COMPANY CLEARANCE SALE

(PRICES GOOD WHILE SUPPLIES LAST)

05/31/18

]

PART # FASTENER PRODUCT DESCRIPTION IN STOCK CLEARANCE PRICE PER EACH

10801636 ADSMG6366 MULTI-GRIP 4000 $0.02

111054000 STL ZINC 3/8-16 X 3 HEX HEAD 25650 $0.07

1180102521 CAL2-2520-165T ROHS SHEREX KNURLED TSN INS 2812 $0.07

150504008 P4008 EG 3/8" SPRING NUT FOR P4100 1171 $0.47

150511063 K1063 EG 3/8" KWIK WASHER ZINC PLATED 256 $1.06

150510037 hflw037 eg 3/8" flat rnd washer 362 $0.02

10101204 AD68ABS POP RIVET 7000 $0.03

150509925 #8009925 GST 25-380 3/8 X 2-1/2 WOOD SAMMY 50 $0.76

1180111026 CAK2-1024-130T ROHS SHEREX KNURLED TSN INS 50991 $0.05

10204276230 FAN276-230 NUT & BOLT KIT 1 $27.11

102043208 FAN239-208 AIR PISTON KIT #1 8 $25.13

102044026 PRT5200-26 INTENSIFIER ASSEMBLY 2 $99.00

102044220 PRT5200-220 AIR LINE ASSEMBLY 9 $29.84

102045132 FAN275-1362 EXTENTION KIT FOR FRONT END 10 $159.75

1020460001518 PNT-600-01-518 1 $25.13

1020460101 PNT600-101A 9 $20.83

102046064 FAN276-064 JAW PUSHER ASSEMBLY 9 $19.49

1020476011 DPN906-001 BUTTONHEAD CAP 3 $0.99

102048011 DPN239-011 NOSE HOUSING NUT 3 $8.38

102048112 DPN239-112 MCS CAP 4 $11.51

10204906005 DPN906-005 TRUSS HEAD 6 $0.50

10402402 SBSLF64 RIVET FOR FM-S822 MATE 2000 $0.03

113011032 10-32 KNURKL THUMB SCREW 1/4 X 1/4 SHOULDER ST-ZN 2500 $0.18

113015060 DK2 410SS 8X3/84 HWH W/ ZINC RoHS COMP 17124 $0.04

113030020 10-16X1/2 HWH #2 ST/ZN SELF DRILLING 6073 $0.02

113030030 10-16X3/4 HWH ST/ZNC SELF DRILLING SCREW 7000 $0.02

113030050 12-14X3/4 HWH #3 ST/ZN SELF DRILLING SCREW 12000 $0.02

117080023 AKS3T-420-260 1000 $0.17

1180102560 CAL2-2520-260 97 $0.10

118108026 SSG802-6A AIR PULL GASKET 1 $3.89

118108029 SSG-802-9 ROTOR BLADES SET OF 5 3 $19.42

PAGE 3 OF 3


